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1. Philo Philadendron has 12 pizza plants in his garden.
He also has 9 pancake plants. How many plants does
he have in all?
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12+ 9 =

Philo has plants in all.
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2. Henrietta put 7 brown eggs in an iguana
egg omelet along with 13 white eggs.
How many eggs did she use altogether?
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Henrietta used eggs altogether.
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2. Henrietta put 7 brown eggs in an iguana
egg omelet along with 13 white eggs.
How many eggs did she use altogether?
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Henrietta used eggs altogether.
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3. Famous racecar driver Carlos Carlover drove
15 miles and then stopped to get gas. He drove
another 8 miles and then stopped for a hot dog.

How many miles has Carlos driven so far?

15 + 8 =

Carlos has driven miles so far.
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4. There were 14 blue birds sitting on Bettina’s

backyard fence. Then 19 vultures joined them.
How many birds are on Bettina’s fence altogether?

14 +19 =

There are birds on Bettina’s fence altogether.
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